M = 0l &8 AF 2 ZH A A
20099 & =204 EIIZAEEE S
SN BALED
M Gag 22
el of=2) HHl & SA(SHIZALEELESA) (HR:®&)
S ED .S (B0) - NRAY - BAS 0f b e H RS2
S50 16,675,512 13,993, 163 2,682,349
= 10,924,000
& 1,512,000
= 4,239,512
ot==& 22| 16,675,512 13,993, 163 2,682,349
= 10,924,000
& 1,512,000
[ 4,239,512
St=2tH HHl L SX(SZIIZAESLESH) 1,151,000 100,000 1,051,000
= 666,000
= 485,000
ot==2t) il € &4 200,000 100,000 100,000
401 A&HIZ204YI 200,000 100,000 100,000
01 A&l 200,000 100,000 100,000
OBt 271 &bl (L=2Kn) 50,000
Ost429 Z&(300m) 50,000
Olt26t+=% ot=2ZH HUl(BU, A&, %
22, 42) 100,000
ot=2ZtH &l 951,000 0 951,000
= 666,000
= 285,000
401 A &HIZ2C0HYI 951,000 0 951,000
= 666,000
= 285,000
01 A&l 751,000 0 751,000
Odallg ot+=2tH1 &bBI(L=5,312Km) 751,000
= 526,000
= 225,000
02 22|l 200,000 0 200,000
OgolE ot=2H FHl 14 200,000
= 140,000
o 60,000
ot=xeld AXI(SEIZAESLEIA) 13,282,000 11,479,000 1,803,000
= 10,258,000
& 1,512,000
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M ot 2tel

Sl Stexeld EX(SHIIZAIESEsIAH) (el &)
SN S(B) - NRAY - B2 O] &k o8 e =2
Stereld AX(2ZINZAIESEIIA) i 1,512,000
U St=Meld & 4,824,000 3,013,000 1,811,000
= 3,377,000
L= 723,500
= 723,500
401 A& HIZL=2OHI 4,824,000 3,013,000 1,811,000
= 3,377,000
= 723,500
= 723,500
01 Al&HI 4,524,000 2,955,000 1,569,000
OO0l=™ ot=HMel&(600m /) 1,954,000
2 1,368,000
< 293,000
i 293,000
OLNs™ ot=Hel&(550m /L) 2,570,000
= 1,799,000
= 385,500
= 385,500
02 Zeltl 300,000 46,000 254,000
ODEO SHEH2IE 14 300,000
= 210,000
= 45,000
i 45,000
JIEtot=Xeld 4Xl 6,401,000 6,045,000 356,000
= 5,441,000
= 480,000
= 480,000
401 AU 204 6,401,000 6,045,000 356,000
= 5,441,000
= 480,000
= 480,000
01 A&l 6,401,000 5,942,000 459,000
ODISEH4Z (8 2) ST 40}, THE MY,
a, &as, 836,33 6,401,000
=2 5,441,000
< 480,000




SN B#RLED
M Sta& 22|
Sl StaXeld AX(SHIIZAIESEEGAH) (&2 &)
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
= 480,000
JIEtetEHel & (Yol ot Xl MelAlE 4Xl) 1,517,000 1,011,000 506,000
= 1,062,000
& 227,500
iy 227,500
403 XXISHHSA20|H 1,517,000 1,011,000 506,000
2 1,062,000
= 227,500
= 227,500
02 ZJ|2SOCHSCHEEAFSHI 1,517,000 1,011,000 506,000
Odtge=2i Xl MelAlE 14] 1,517,000
= 1,062,000
= 227,500
o 227,500
SO = OISot=5E &l 540,000 1,260,000 AT720,000
= 378,000
== 81,000
iy 81,000
401 AlEHILE04H] 540,000 1,260,000 A720,000
= 378,000
= 81,000
o 81,000
01 Al&H| 540,000 1,237,000 697,000
Os0HE0ISo==(20Ha) 2, 235 540,000
= 378,000
o= 81,000
= 81,000
SHEIIZAIE 2| - S (FHIZAIEELEIA) 2,242,512 2,414,163 AN171,651
BHEIIZANE 29 398,020 356,800 41,220
201 LErEAH| 398,020 356,800 41,220
01 AtR22id] 10,000 10,000 0
OYLr£H (22 2B HE)
2,000& *5,0000H 10,000
02 =32gH| 388,020 346,800 41,220
02222 2 MAl 388,020




SN B#PLED
M o+E 2ol
Sl BFIIEAL B2l - SY(SPIEALSHIIH) (5l &2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
—5t+del® ®JIR3  30,000,0008 *122 360,000
—EAWHRLS 70,0002 x27H A %23 280
—FIIGHHHEE 100, 0002 %67} 4 * 1231 7,200
—ste &3l 1,100,0002 13| 1,100
—SELA QUEHY Fz2
70,0002 *6H A #1202 5,040
—BoHAE AR
200, 0002 *67H 2 * 122 14,400
BAIEAL B 87,129 300,000 ~212,871
207 STt 87,129 300,000 ~212,871
NEEEET 87,129 300,000 A212,871
Ot2st4E Jlare 8yl
9,681,00024 *97H 2 87,129
B#AIENE S22y 1,237,363 1,237,363 0
307 eI2t0|H 1,237,363 1,237,363 0
05 LIRASIE3 1,237,363 1,237,363 0
OIS Bt=Hal=(10H2) 284,745
OBIEH?| B2l = (3 2)
121,522,632 %300 4 364,568
O2LH2lE 1A 142,935
OFS4+HMAF(1HL) 161,788,574+ 2 161,789
OS2 ot M2l & (41744 ) 207,126
OQ4F2IE 5L 76,200
B2 ZAL WA 500,000 500,000 0
401 AlSHIL =0 500,000 500,000 0
01 Al 500,000 500,000 0
OXot4A=l &3 83,5002 +3007H 26,550
OAMHIZ BaS4+I| DA
200,000, 0002 * 14! 200,000
OLHS St+SLHT Ha 200,000
OZIIENE L7 B4 73,450
BHIIZAE oK ofbl] 20,000 20,000 0
801 il 20,000 20,000 0
01 oibIbl 20,000 20,000 0
OOIBIBI(THaH S2=7 14) 20,000




